

and arrows when appropriate. Always SIMPLIFY expressions. BOX final short answers. LABEL parts of problem. Keep answers EXACT (but give decimal approximations for interpretation when appropriate). Indicate where technology is used and what type (Maple, GC).

You may use technology to evaluate the necessary antiderivatives, but you must use the limit definition which allows evaluation of the improper integrals. Check your work by directly evaluating these integrals with technology.

1. 
$$\int_{2}^{3} \frac{1}{(x-2)^{\frac{2}{3}}} dx$$

$$2.a) \int_0^\infty x e^{-\frac{x}{3}} dx$$

This is a quiz on limits, not integration techniques. Why would anyone waste time on intogration by parts for 2, and the U-sub in 1 is abvious— unnecessary to go thru change of variable steps.

b) What percent of this area under the graph out to infinity is represented by the integral from x = 0 to the location of the maximum value of the integrand? Use calculus to derive the location of the maximum value before proceeding.

simple u-sub (obvious)

$$\int (x-2)^{-2/3} dx = \frac{(x-2)^{1/3}}{\sqrt{3}} + c = 3(x-2)^{1/3} + C$$

$$\int_{2}^{3} (x-2)^{-2/3} dx = \lim_{t \to 2+} \int_{1}^{3} (x-2)^{-2/3} dx = \lim_{t \to 2+} \int_{1}^{3} (x-2)^{1/3} dx = \lim_{t \to 2+} \left( 3(3-2)^{1/3} - 3(t-2)^{1/3} \right) = \boxed{3}$$

$$= \lim_{t \to 2+} \left( 3(3-2)^{1/3} - 3(t-2)^{1/3} \right) = \boxed{3}$$

(2) a) 
$$\int xe^{-\frac{x}{3}} dx = -3(x+3)e^{-x/3}$$

$$\int_{0}^{\infty} xe^{-\frac{x}{3}} dx = \lim_{t \to \infty} \int_{0}^{t} xe^{-x/3} dx = \lim_{t \to \infty} \left(-3(x+3)e^{-x/3}\right)e^{-x/3} dx$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-t/3} + 3(0+3)e^{-x/3}\right) = 9$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-t/3} + 3(0+3)e^{-x/3}\right) = 9$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-t/3} + 3(0+3)e^{-x/3}\right) = 9$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-t/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

$$= \lim_{t \to \infty} \left(-3(x+3)e^{-x/3} + 3(0+3)e^{-x/3}\right) = 1$$

b) 
$$\frac{1}{0}(xe^{-x/3}) = 1e^{-x/3} + xe^{-x/3}(-1/3) = e^{-x/3}(1-\frac{x}{3}) = 0$$
 $\frac{1}{2}(xe^{-x/3}) = 1e^{-x/3} + xe^{-x/3}(-1/3) = e^{-x/3}(1-\frac{x}{3}) = 0$ 
 $\frac{1}{2}(xe^{-x/3}) = 1e^{-x/3} + xe^{-x/3}(-1/3) = e^{-x/3}(1-\frac{x}{3}) = 0$ 
 $\frac{1}{2}(xe^{-x/3}) = 1e^{-x/3} + xe^{-x/3}(-1/3) = e^{-x/3}(1-\frac{x}{3}) = 0$ 
 $\frac{1}{2}(xe^{-x/3}) = 1e^{-x/3}(1-\frac{x}{3}) = 0$ 
 $\frac{1}{$